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o EEE 7 B & R 7 B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 4C +1 -150 1t 3S -1 -50 3
2 it 1t 5C +1 620 [£3] 6D = 1370 13
3 panyiie] [£3] o6H -1 -50 1t oH -1 -50
4 PE=] x 3NT = -600 x 3NT = -600
5 it 1t 3D -2 -200 [ri] 2HXx -2 300 11
6 panyiie] 1t 4H +3 510 [£3] O6NT +1 1020 11
7 PE=] x 3HXx -1 200 [£3] INT -3 -300 11
8 TS [ri] 4H -1 50 [ri] 2H = -110 4
9 panyiie] [£3] 5C = 400 1t 5C = 400
10 | \WHB [ri] 5C -1 100 [ri] 3NT +1 -630 12
11 | X 1t INT -1 -50 1t 2H +1 140 5
12 | Edb 1t INT +2 150 [ri] 3C -2 100 2
13 | W/ 1t 2NT = 120 1t 2NT = 120
14 | W [£3] 3C -2 -100 x 3H -2 100 5
15 | Edt [£3] 4H -1 -100 [£3] 4H = 620 12
16 ,?ﬁ x 3NT -4 400 [£3] 2S -2 -100 11
DATUMiT T
HFmhPA THRIRRER Y. X+ 40 60
SBR/EEE -20 DIRIE/EZR R -2 Aait 40 | 60
SRR/ EHN 2 XI3Z/ &7 20 V.P. 5 15




2014LF FREFIBIRE (AR )

%48 %2 5 201448 H23H
6 FREEZERA VS 2 FYIItERRRA
H= A=
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 4C +1 -150 [ri] 3NT +1 -430 7
2 it x 6HX -3 500 [£3] 6D +1 1390 13
3 panyiie] 1t 6H -1 -50 1t 6H -1 -50 -3
4 |wal @ | 3NT | = | 600 7 | aNT | -2 | 200 13
5 it 1t 3D -1 -100 [ri] 2H -3 150 6
6 panyiic] 1t 7H = 1510 1t 6H +1 1010 11
7 PE=] 1t 3D -2 -200 1t 1S = 80 7
8 TS [ri] 2H +2 -170 [ri] 3H = -140 1
9 g 1t 3C +2 150 [£3] 3NT = 400 6
10 | \WHB [ri] INT +2 -150 [ri] 3NTX = -750 12
11 | W 1t 2H +1 140 1t INT = 90 2
12 | Edel 1t 2S = 110 1t 2S = 110
13 | WHB 1t 2NT -1 -100 1t INT +2 150
14 | W x 2H = -110 x 2H -1 50 4
15 | Edb [£3] 4H -2 -200 [ri] 4Dx -2 300 11
16 | ZRFg x 3NT -1 100 x 3NT -2 200 3
DATUM%it iR 3
FREEZEA iRIIEBRRA y. S+ ] 29 70
(BEB/EB%E -38  fMELD/ATEEX| 9 ait 29 | 70
REZ /IR -9 EN/ZERR 38 V.P. 1.79 | 18.21
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3S -1 -50 [£3] 2Sx = 470 11
2 it 1t 6C = 1370 [£3] 6D = 1370
3 panyiie] [£3] 6H = 980 1t 6H -1 -50 14
4 WE=] x 3NT = -600 x 3NT -1 100 12
5 it 1t 3NT -1 -100 [£3] 3C = 110 5
6 ,?ﬁ 1t 6H +1 1010 1t oH +1 1010
7 PE=] 1t INT = 90 1t INT +1 120 1
8 TS [ri] 3H -1 50 [£3] 3C = 110 2
9 panyiie] 1t 3NT = 400 1t 5C +1 420 1
10 | WHB [ri] 3NT = -600 [ri] 3NT = -600
11 | W 1t 2H +1 140 1t INT +1 120 1
12 | Edb [£3] 2S = 110 1t 2C -3 -300 9
13 | WH/ 1t 2NT = 120 1t 2NT = 120
14 | W x 2H -1 50 x 2H -1 50
15 | Edb [£3] 4H = 620 1t 4H -1 -100 12
16 | ZRFg x 3C +2 -150 1t 3D -1 -50 3
DATUMiT T
—X%(EHFI= I~ MBRA Y. X+ 36 | 35
RN/ TE 23 BXE/SRI 12 ait 36 | 35
FRfE/iRI 5 -12 Xln/ 287 -23 V.P. 10.31 | 9.69
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |zl &2 | 3p | = | 110l & | 2s | = | 110 6
2 it [£3] 5D +2 640 [ri] 6SX -2 300 8

3 panyiie] 1t 6H -1 -50 [£3] 6H = 980 14
4 E=] [ri] 3NT = -600 [ri] 3NT = -600

5 it x INTX -1 100 [£3] 4C +1 150 2
6 gy 1t 7H = 1510 1t 4H +3 510 14

7 E=] [£3] 2S -1 -100 1t 3NT -2 -200 3

8 TS [£3] 4C -1 -50 [ri] 4HXx -2 300 8
9 |FAIL db 5C +1 420 it 5C +1 420
10 | WHB [ri] 3NT +1 -630 [ri] 5C -1 100 12
11 | W [£3] 2D = 90 1t 2H = 110 1
12 | Edb [£3] 2S -1 -100 [£3] 2S = 110 5
13 | W/ 1t 3NT -2 -200 1t INT = 90 7
14 | W [£3] 3C -1 -50 x 2H -1 50 3
15 | Edt [£3] 4H -1 -100 [£3] 4H = 620 12
16 ,?ﬁ [£3] 3D = 110 x 3NT -2 200 3

DATUMiT T
i I R=EA ERiSEPA Y. X+ 25 73

ZEHS/mEFE  -33 B/ KK 26 ait 25 73
XHEE/MRER -26 =/ TREE 33 V.P. 1.03 | 18.97
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3C +1 -130 R 3C = -110 1
2 it [ri] 5Sx -1 100 [£3] 6CXx = 1540 16
3 panyiie] [£3] 4H +2 480 [£3] 6H -1 -50 11
4 PE=] [ri] 3NT = -600 [ri] 3NT -1 100 12
5 it 1t 2S -1 -100 [£3] 2S = 110 5
6 panyiic] [£3] 7H = 1510 1t 7H = 1510
7 WE=] [£3] INT = 90 [£3] 2S -1 -100 5
8 TS [ri] 3S = -140 [ri] 3H -2 100 6
9 panyiie] 1t 3NT +2 460 1t 3C +2 150 7
10 | \WHB x 3NT = -600 [ri] 3NT = -600
11 | W [£3] 2H -1 -50 1t 2H -1 -50
12 | Edb 1t 2S -1 -100 1t 2S = 110 5
13 | W/ 1t 3NT -1 -100 1t 2NT = 120 6
14 | W x 2H -1 50 x 2H -1 50
15 | Edt [£3] 4H -1 -100 [£3] 4H -1 -100
16 | ZRFg [ri] 3H -2 200 x 3NT -2 200
DATUM&iit iFE
KIEERE) Fkifg{itea A r: 5 ] 23 | 51
FERE/H R 27 SJCERLR/SSE 13 ait 23 | 51
X1 BT/ 34220 -13 ZICR/EEER 27 V.P. 3.58 | 16.42
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3S -1 -50 x 4C = -130 2
2 it [£3] 7DXx -1 -200 [ri] 6SXx -2 300 11
3 panyiic] 1t 6H = 980 1t 5H = 450 11
4 E=] [ri] 3NT = -600 x 3NT = -600
5 it [£3] 2S = 110 [£3] 4C -2 -200 7
6 ,?ﬁ 1t 7H = 1510 1t 7H = 1510
7 E=] 1t 3D -3 -300 [£3] 2S -2 -200 3
8 TS [ri] 2H -1 50 [£3] 3NTX -2 -300 8
9 panyiie] 1t 3NT = 400 1t 5C = 400
10 | WHB [ri] 5C -1 100 [ri] 3NT +1 -630 12
11 | W 1t 2H = 110 1t INT +1 120
12 | Edb x 2D -3 150 1t INT -1 -100 6
13 | WH/ 1t 3NT -1 -100 1t INT = 90 5
14 | W x 2H -1 50 1t 3C -2 -100 4
15 | Edb [£3] 4H = 620 [£3] 4H = 620
16 | ZRFg x 3NT -3 300 x 2NT -2 200 3
DATUMiT T
BRI TSCMVRA i~ A=RA Y. X+ 53 | 19
N/ EER, 24 BERRAE I/ TitE A% -20 ait 53 | 19
DEER/ZEKIE 20 H{E32/EP 24 V.P. 17.31 | 2.69




2014 FREFhRIRIRE (AR )

¥ 4% 875 201448 H23H
15 BRXEIPA VS 11 ;TIISEMARA
H= A=
LTI TSI S LTI
It mET % 1t - T 7
— T ETE =5 200 7 e
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INT = -90 1t 3S -1 -50 1
2 it 1t 5C +1 620 1t 6C = 1370 13
3 panyiie] 1t o6H = 980 [£3] 4H +2 480 11
4 PE=] [ri] 3NT -1 100 [ri] 3NT -1 100
5 it 1t 4Dx -2 -500 1t 2D = 90 11
6 ,?ﬁ 1t 4H +3 510 1t 7H = 1510 14
7 PE=] 1t 2S -1 -100 [£3] 3D -2 -200 3
8 TS [ri] 3H -1 50 [ri] 4H -3 150 3
9 |FEAIL db 3NT | +1 430 it 3NT | +1 430
10 | \WHB [ri] 2C = -90 [ri] 3NT = -600 11
11 | W 1t 2H = 110 1t INT +3 180 2
12 | Edb [£3] 2S = 110 1t 1Cx -1 -200 7
13 | WH/ 1t INT +1 120 [£3] INT = 90 1
14 | W x 2H -1 50 [ri] 2H = -110 4
15 | Edb [ri] 5Dx -3 500 1t 4H = 620 3
16 | ZRFg [ri] 3H = -140 [£3] 3D -1 -50 3
DATUMiT T
ER<EGIRA i JSEIARA Y. X+ 37 | 50
IR/ 13 FEIPR/EH 34 ait 37 | 50
MRLNEREE  -34 TERME T -13 V.P. 6.48 | 13.52
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it : Z|EE R SKEE it : S/ R 5kDE
Sy 7 - I % HE 7 - PR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3S -2 -100 x 3C = -110
2 it 1t 7DXx -1 -200 x 6HX -3 500 12
3 ,?ﬁ 1t 6H -1 -50 [£3] 4H +1 450 11
4 WE=] [ri] 3NT = -600 [ri] 3NT +1 -630 1
5 it 1t 3D -2 -200 x INTX -1 100 7
6 ,?ﬁ 1t 7H = 1510 1t 7H = 1510
7 PWE=] [£3] 3D -2 -200 1t 2D -1 -100 3
8 TS [ri] 3H -1 50 [ri] 3H -1 50
9 panyiie] 1t 2NT -1 -50 1t 3NT +1 430 10
10 | \WHB [ri] 3NT +1 -630 [ri] 3NT -1 100 12
11 | W 1t 2H +1 140 1t INT +1 120 1
12 | Edb [£3] 2S -1 -100 1t 2S = 110 5
13 | WH/ 1t 2NT = 120 1t 2NT = 120
14 | WF x 2H -1 50 x 2H -1 50
15 | Edb [£3] 4H = 620 [£3] 4H -3 -300 14
16 ,?ﬁ x 3NT -4 400 [£3] 2S -2 -100 11
DATUMiT T
FELLITEFAPA ALLiESPA Y. X+ 27 | 60
ZIXAFE/2I%E 29 SRR /ERE 4 ait 27 60
oK/ DB -4 SKEE/{AE)F 29 V.P. 283 | 17.17




